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Starting 89

The TI-89 is very dependent on its mode settings. Press the key to
bring up your mode screens. Change your mode settings to the ones on the

following screens.
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Press to

save these settings.




All entries on the input line should be followed by hitting | ENTER] .
This is how you let the calculator evaluate what you entered.

Basics
5+ 3 Performs addition.
10—-7 Performs subtraction.
6*4 Performs multiplication.
5/4 Gives 2.
972 Squares 9.
210 Raises 2 to the tenth power.

-6 Gives negative six by hitting .
Do Not use B .

-8%(-4) Is the product of two negative numbers.

5—6/2+1 The calculator uses the order of op-
erations from math.

(5—-6)/(2+1) The grouping symbols make the cal-
culator do what’s in the parentheses
first.

(3 %4)"2 This multiplies first.

To clear the stack you press :
The | CLEAR| key clears the input line.

Done in TEX.



